Upplands BF
DM lagfinal IAF Rond 5:2

IMP 6ver féltet, 8 bord, 16 par. Antal brickor: 8.

Plac Par Poang Namn MID
1 204 3.23 Thomas Ivarsson - Bjorn Wenneberg 6659 1912
2 101 2.59 Kjell Hedman - Sten-Sture Gillestrom 2832 6066
3 303 1.59 Goran Rangevall - Marcus Hjelte 2876 84282
4 1 1.52 Louise Hallgvist - Ylva Johansson 8874 14116
5 2 1.38 Andy Browning - Per-Ake Pettersson 82456 9960
6 304 0.55 Anders Blomgvist - Ivar Holmquist 2823 2932
7 302 0.09 Ahto Uisk - Ylva Karlsson-Uisk 2801 2802
8 203 0.02 K-G Wanngard - Joakim Moller 6634 33431
9 3 -0.02 Petter Melin - Rolf Westman 1075 2821
10 102 -0.09 Peter Huotila - Bjérn Karlsson 4317 2879
11 104 -0.55 Hans Kvick - Per-Arne Karlsson 2878 1246
12 202 -1.38 Marito Karlsson - Mikael Fahlander 15214 13534
13 201 -1.52 Bjorn Alenfalk - UIf Nohrén 2828 2798
14 103 -1.59 Rolf Staflund - Rolf Nyman 9211 2588
15 301 -2.59 Fredrik Norling - Fredrik Andersson 49212 200179
16 4 -3.23 la Borling - Linnea Edlund 89037 34773
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 3#N= vA 110 26.0 -26.0 1 201 54DO-3 vK 800 61.0 -61.0 2 202 3NS+1 3 430 6.0 -6.0
101 301 2¢ N= &4 90 240 -24.0|104 304 4v S+1 &K 650 38.0 -38.0(102 302 3NS+1 42 430 6.0 -6.0
2 202 3NS-1 2 50 -6.0 6.0 2 202 4v S= 48 620 32.0 -32.0 1 201 3NS= v8 400 20 20
4 204 3¢ N-1 &4 -50 -6.0 6.0 3 203 4v S= ¢6 620 32.0 -32.0 3 203 3NN= v3 400 20 20
102 302 3# N-1 44 -50 -6.0 6.0|101 301 4v S= *A 620 32.0 -32.0 4 204 3NS= v8 400 20 20
103 303 3NS-1 44 50 -6.0 6.0[/102 302 24 N-1 T -100 -57.0 57.0|101 301 3NS-= v8 400 20 20
104 304 3NS-1 45 -50 -6.0 6.0 4 204 5¢ S-2 &K -200 -69.0 69.0|103 303 3NS= v8 400 20 20
3 203 3NS-2 45 -100 -20.0 20.0({103 303 4v S-2 &K -200 -69.0 69.0(104 304 3NS= ¢6 400 20 20
12 & EK43 Bésta kontrakt 13 & 842 Bésta kontrakt 14 & KKn102 Bésta kontrakt
Vast v D109 6y N =1430 Nord v 1042 4v O =-620 Ost v KDKn10 3¢ O =-110
NS ¢ E843 Alla + KKn84 Ingen + K108
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Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 202 4v S+2 ¢K 680 20 -20 2 202 5¢ O-1 #A 100 73.0 -73.0(101 301 2vDS= &A 470 74.0 -74.0
3 203 4v S+2 +¢K 680 20 -2.0|102 302 4v V-1 &7 100 73.0 -73.0|103 303 3NV-4 vK 200 37.0 -37.0
4 204 49 S+2 ¢K 680 20 -20 1 201 3NO= 4Q -600 -21.0 21.0 1 201 INV= vK -90 -14.0 14.0
101 301 4v S+2 K 680 20 -20 3 203 3NO= 4Q -600 -21.0 210 2 202 INV= vK -90 -14.0 14.0
102 302 4v S+2 +K 680 20 -20|101 301 3NO= &4 -600 -21.0 21.0|102 302 INV= vK -90 -14.0 14.0
104 304 4v S+2 v3 680 20 -20|103 303 3NO= &6 -600 -21.0 21.0|104 304 INV= vQ -90 -14.0 14.0
103 303 3NN+2 &J 660 -6.0 6.0 4 204 BNO+1 «Q -630 -27.0 27.0 4 204 3¢ O= ¢3 -110 -19.0 19.0
1 201 4vS+1 ¢7 650 6.0 6.0[104 304 3NO+2 «J -660 -35.0 35.0 3 203 2¢ S-4 sA -200 -36.0 36.0
15 4 D9432 Basta kontrakt 16 4 Kn7 Basta kontrakt
Syd vKD 3NTVD-1100 |Vast v 864 ANT S =430
NS + EKn1053 oV + ED9632
»10 & ¢ v & NT D4 & ¢ v & NT
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 201 24 N+1 &A 140 33.0 -33.0 3 203 3NS+3 ¢T 490 16.0 -16.0
3 203 2¢ N+1 &7 110 28.0 -28.0 1 201 3NS+2 vJ 460 8.0 -8.0
101 301 24 N= &A 110 28.0 -28.0|101 301 3NS+2 &4 460 8.0 -8.0
104 304 24 N-1 A -100 -15.0 15.0|102 302 3NS+2 vJ 460 8.0 -8.0
2 202 3#0= ¢4 -110 -17.0 170 2 202 3NS+1 T 430 1.0 -1.0
4 204 340= &2 -110 -17.0 17.0|103 303 3NS+1 T 430 1.0 -1.0
102 302 3# V= 42 -110 -17.0 170|104 304 3NS+1 T 430 10 -1.0
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103 303 4+ V= 3 -130 -23.0 23.0 4 204 3#0-2 &K 200 -43.0 43.0
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